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Note:— Attempt five questionsinall. Q. No. 1is compulsory and select one

question from each Unit.

1. (A) Multiple Choice Questions:

() Chromosome number ofa hexaploid is 48 then its basic

numberis:
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() Stageconnecting meiosisand meiosis [T s :

@
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Interphase I
Interphase II
Interkinesis
Anaphase |
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(i) Energy currency ofacellis:
(@ ADP.
(b) AIP
(cp GDP
(d NAD

(iv) Subunits of 80 s Ribosomes are :
(@ 40s
) 60s
(¢ 60sand40s
(d) None of the above

(v) DNA differs from RNA inhaving:
(@ Thymine
(b) Adenine
() Uraci
(d) Guanine

(vi) Haploid setof chromosome is called :
(@ Nucleus
(b) Genome
(c) Gene
(d) Alltheabove

(B) Fillintheblanks:

() Metacentric chromosomes appear shaped in

anaphase.
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() Anucleotide consists of sugar, phosphateanda

Giy isthephenomenon of having more than two sets of
chromosomes Or genomes.

(@) proposed one gene one enzyme hypothesis.

(v) The pairing ofnon homologous chromosome is termed as

(vi) Nucleus was discovered by in1831. 12x1=12

UNIT-1
2.  Explain:
(@) Fluid Mosaic Model of cell membrane

(b) Types of Plastids.

3. Write:
(a) Functionsof Endoplasmic reticulum or Golgiapparatus 3
(b) Structure of Mitochondrion. 3
UNIT-I
4. Writenoteson: '
(@) Polytene Chromosomes 3
(b) Typesof Aneuploids. 3

5. What are chromosomal alterations ? Discuss types and significance
of Deletions or Inversions. 6
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UNIT-1II

6. Describe the process of DNA'replication. 6

7.  Write noteson:
(a) Prophaselof Meiosis | 3
(b) Nucleosome. 3
UNIT-1IV

8. Explainonly diagrammatically an operon model in Prokaryotes for
regulation of gene activity. 6

9.  Write notes on any two:
(@) Genetic Code
(b) Transcription
(c) Wobble Hypothesis. 3,3
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